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M.A. (Third Semester)
EXAMINATION, Dec. - Jan., 2021-22

ECONOMICS
Paper Fourth

(Environmental Economics)

[ Time : Three Hours ] [ Maximum Marks : 80 ]



Note: Attempt all sections as directed.


(Section - A)


(Objective/Multiple Choice Questions)

(1 mark each)


Attempt all questions.

Choose the correct answer.
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1. 

(A)  

(B)  

(C)  

(D) 

Environmental economics was born?

(A) Year 1950

(B) Year 1960

(C) Year 1965

(D) None of the above

2. 



(A) 1
0 (1 )

uw u
p

(B) 1
1 (1 )

uw u
p

(C)
0

0 (1 )
uW u
p

(D) 
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According to Prof. Bentham the equation of measure-

ment of utility concession is?

(A) 1
0 (1 )

uw u
p

(B) 1
1 (1 )

uw u
p

(C) 0
0 (1 )

uW u
p

(D) None of the above

3. 

(A) 

(B) 

(C) 

(D) 

There is a relationship between a price and the coercive
use of resources.

(A) Positive

(B) Contridiction

(C) Zero

(D) None of above

4. 

(A) =

(B) =

(C) ==

(D) 
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The formula for measuring the lifetime index of natural
resources is

(A) Lifetime Resources = Economic resources/Annual
consumption

(B) Lifetime Resources = Annual consumption/Eco
nomic Resources

(C) Lifetime Resources = Annaul consumption/Eco
nomic Resources

(D) None of them

5. 

(A)  

(B) 

(C)  

(D) 

We cannot include in natural capital -

(A) Income Description

(B) Volantary work in the army

(C) Economic participation

(D) None of the above

6.   

(A)  

(B) 

(C) 

(D) 
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Included in environmental economic development:

(A) Scale of micro economics

(B) Scale of macro economics

(C) Scale of renewable resources

(D) None of the above

7. 

(A)  

(B) 

(C) 

(D) 

When and where did the 4th WTO conference take place?

(A) May - June - 1998 Geneva

(B) October - November, 2001 Doha (Qutar)

(C) November - December - 1999 America

(D) None of the above

8. (OECD)

(Better life indicator)

(A) 

(B) 

(C) 

(D) 

P.T.O.
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According to the organisation for economic Co - opera-
tion and development, the better living index number is:

(A) Twelve

(B) Eleven

(C) Thirteen

(D) None of the above

9. 

(A)  

(B)  

(C) 

(D) 

Arose because of the impact of agriculture on the
environment:

(A) Kharif crop

(B) Crop Cycle

(C) Green revolution

(D) None of the above

10. 

(A) 

(B)  

(C) 

(D) 
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Environment for the future is a kind of sustainable
agriculture.

(A) Deep forming

(B) Transfer crop

(C) Tax free farming

(D) None of the above

11. 


(A)  

(B) 

(C)  

(D) 

Environmentally, in what economic assesment can the
existence of an owl living in the forest be placed?

(A) Experimental value

(B) Non experimental value

(C) Bequst value

(D) None of the above.

12. 

(A)  ( )SMB 
 SMB SMC

(B) ( )SMC 
 ( )SMB  SMC SMB

(C)  ( )SMB 
 ( )SMC

(D) 

P.T.O.
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The environment will bring maximum welfare to the soci-
ety when:

(A) SMB SMC

(B) SMC SMB

(C) SMB SMC

(D) None of the above

13. 

(A) 

(B) 

(C) 

(D) 

Environmental value and technology based:

(A) On currency and value

(B) On goods and services

(C) On demand and supply

(D) None of the above

14. (Environmental Circular Flow

Model)

(A) 

(B) 

(C) 

(D) 
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The environmental cycle flow model based on:

(A) On the interest, wages, Income

(B) On the Land, labour and capital

(C) On rent, profit and income.

(D) None of the above

15. (sink function)

(A) 

(B)  

(C) 

(D) 

The Sink function are:

(A) Book protected by human

(B) Toxic substences exposed by humans

(C) Human buildings

(D) None of the above

16. 

(A) 

(B)  



(C) 

(D) 

P.T.O.
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The externalities are:

(A) Such an approach when the tax is for including self

(B) An approach when incorporating the use of the tax
into the market decision.

(C) Such a humanitarian work that everyone like.

(D) None of the above.

17.  

(A) 

(B) 

(C) 

(D) 

Public goods are:

(A) Those commodities that don't benefit the environ
ment and resources.

(B) Those goods which are anti to resources  and
environmental pollution.

(C) Strengthen economic potential

(D) None of the above.

18. 

(A)   

(B)   

(C)   

(D) 
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Who said = Labour is the father and nature is the mother
of wealth.

(A) Prof. Marshall (1889)

(B) Prof. Pettey (1899)

(C) Prof. Jewanse (1825)

(D) None of the above

19. 

(A)  

(B) 

(C) 

(D) 

Affected by the increase in percapita consumption.

(A) Unchanged population

(B) Total environmental damage

(C) Per capita  Production

(D) None of the above

20. 

(A)   

(B)  

(C) 

(D) 

Air quality measured in terms of:

(A) Increased water

(B) Reduce to sulfer emission

(C) Increased sun heat

(D) None of the above
P.T.O.
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
Section - B


(Very Short Answer Type Questions)

(2 marks each)



Note : Attempt any eight questions.



Define the following:

1.  

Circular flow model

2. 

Economic Efficiency (Environmental)

3. 

Green Economy

4.   

Environmental external cost

5.  

Kuznets curve

6.   

Causes of crop cycle
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7.  

Cost benefit

8.  

Natural capital

9. 

Non practical use value

10.   

Environmental public goods.



Section - C



(Short Answer Type Questions)

(3 marks each)



Note : Attempt any eight questions.



Write short notes on the following:

1. 

Micro Economic Scale (Environmental)

2. L C =(Capacity of World
P = (Population

P.T.O.
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L 

P

C

T



Explain the above diagram in environmental approach.

3.  

Environmental externalities

4.  

Population policy for the 21 century.

5.   

Environmental economic value and technique

6.    

Consumption and contract curve

7.  

Ecological cycle

8. 

Discounting rates

9.   

Prof. Pigou's fee.

10. 
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Economic efficiencies of Prof. Bantham.


Section - D


(Long answer type questions)

(5 marks each)

Note : Attempt any four questions.

1. 


Explain the Kaldor-Hicks compansation criteria from
environmental point of view.

2.

Y 

X
Worsen

O 

Improve

Per capita income

E K C



Explain environmental point of view.

P.T.O.
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3. 


Explain the economic theory of environmental uses of
Non Natural Resources with the diagram.

4.   

Explain the environmental accounting.

5.     

Write in short to the genuine progress indication.

6. 
 

Write short notes on the 'Green Economy' and Justify
the answer with the help of diagrams.


